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152 f(x)=2sin(x* +4x-2) + Bl f'(x) = (IEZERE D)
SOL: #ikigiEiH=

f'(x) = 2[003 (x> +4x - 2)](x2 +4x-2)

= 2[cos (X* +4x - 2)](2x +4)
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(A)Cot'x  (B) - T

. (C) sec*x (D)
SOL: @i EE
tan(Tan'x) =x - HFRMEMH

= sec’(Tan'x)-(Tan'x)' =1 - & Tan'x=0 = tan0 =x

1+ x°

' 1 ,
= |Tan(x)| = ——=c0s°X =
[Tan(3)] sec?0 1+x?
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35K y = sinx 7E2 ( % , %) SHEFRR (AR ETER)

SOL: y=sinx = y'=cosx 'ﬁ/\%‘.in%'/?'\y':m

m=cos£=£
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4.3 f(x)=secx - Al F(x) =

(A) secxtanx  (B) sec’x (C) tan®x (D) cos x
SOL:
£ (x) = sec x= 1 F(x) = 0-cosx—1-(zcosx) _ O-cosx—lz-(cosx)
COS X (cosx) cos’ X
f'(x) = SN X = 1 sinx =sec xtan x

cos’ X  cosx COSX

55K y = Sin-ix £ (‘2 ) 2 R (R S AR )
SOL:

y=Sin'x = y'=
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Y—E=E(X—E)

ﬁ}\%ﬁx:% Sy=m




